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QUESTION 1

What is one way to determine if administrative security for IBM WebSphere Application Server is disabled when logging
into the Integrated Solutions Console?

A. A user is not forced to use HTTPS (SSL).

B. An administrator is allowed to type any random password.

C. An administrator is prompted for user name, but not password.

D. When the username wasadmin is used to log in, the password used is the default "password".

Correct Answer: C

Congratulations! You have successfully manually disabled Global Security for your IBM WebSphere Application Server
instance. You should now be able to access the WAS Integrated Solutions Console (ISC) without having to specify a

password.

Reference: http://www-01.ibm.com/support/docview.wss?uid=nas8N1012744

QUESTION 2

Which statement is true when synchronizing a web server in a cell topology?
A. Web server are managed servers and can be synchronized.

B. Web server are unmanaged nodes and can be synchronized.

C. Web server are managed nodes and cannot be synchronized.

D. Web server are unmanaged servers and cannot be synchronized.
Correct Answer: D

Unmanaged nodes cannot be synchronized.

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/
com.ibm.websphere.nd.multiplatform.doc/ae/tagt_svr_conf_nodes.html

QUESTION 3

When administrative security in enabled, what is the minimum administrative role needed to create a resource, install,
and uninstall an application?

A. Monitor
B. Operator

C. Configurator
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D. Administrator

Correct Answer: B

An individual or group that uses the configurator role has the monitor privilege plus the ability to change
the WebSphere Application Server configuration. The configurator can perform all the daily configuration
tasks. For example, a configurator can complete the following tasks:

Create a resource.

Map an application server.

Install and uninstall an application.

Deploy an application.

Assign users and groups-to-role mapping for applications.

Set up Java 2 security permissions for applications.

Incorrect Answers:

A: An individual or group that uses the monitor role has the least amount of privileges. A monitor can
complete the following tasks:

View the WebSphere Application Server configuration.

View the current state of the Application Server.

C, D: Not minimal roles.

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/com.ibm.websphere.nd.doc/
ae/rsec_adminroles.html

QUESTION 4

An administrator notices a sudden increase in the user load that causes resource contention on the database server.
What preventive measure can the administrator take to avoid database outage?

A. Enable surge protection.

B. Configure Stuck connection.

C. Reduce connection pool size.

D. Reduce WebContainer Thread pool size.

Correct Answer: C

Maximum Connection Pool Size
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When determining the maximum size of the database connection pool, consider the following issues:
The total number of connections that the WebSphere Commerce cluster can open to the database should
not overwhelm your database.

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg21358336

QUESTION 5

Which of the following is a requirement when performing a silent install?
A. A response file must be used.

B. Artifacts must be saved for performing a roll back.

C. The repositories must be defined before starting the install.

D. The repositories must be downloaded before performing the install.
Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSFKSJ_8.0.0/com.ibm.mq.sce.doc/ g120000_.htm

QUESTION 6

When setting up high availability settings for the web server, at what level should an administrator configure the custom
properties?

A. cell

B. node

C. server

D. nodeagent
Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/
com.ibm.websphere.nd.multiplatform.doc/ae/xrun_jvm.html

QUESTION 7

What must be modified to configure the authentication settings for IIOP requests?
A. Bus security settings

B. J2C authentication settings

C. Session Initiation Protocol (SIP) authentication settings
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D. Common Secure Interoperability Version 2 (CSIV2) settings
Correct Answer: D
Application Server can propagate attributes directly as part of the CSIv2 protocol for RMI/IIOP requests.

Reference: https://www.ibm.com/developerworks/websphere/ techjournal/0508_benantar/0508_benantar.html

QUESTION 8

What information must the system administrator have to successfully tune a connection pool?
A. The requests per second that occur during a peak.

B. The MaxConnections and WaitingCount values.

C. The number of concurrent requests waiting for a connection.

D. How long the database takes to respond to SELECT operations only.

Correct Answer: D

Reference: ftp://ftp.software.ibm.com/software/iea/content/com.ibm.iea.was_v6/waspdguide/6.0/
Configuration/SW5706G09_ConnectionPool.pdf

QUESTION 9
Which statement is true about a request made from a browser for a jsp running in an application server?

A. The HTTP server plug-in loaded with the embedded HTTP server within the application server forwards the request
to the application server.

B. The plug-in configuration file loaded with the embedded HTTP server within the application server forwards the
request to the application server.

C. The HTTP server plug-in loaded with the HTTP server forwards the request to the embedded HTTP server within the
application server. The embedded server forwards the request into the web container.

D. The plug-in configuration file loaded with the HTTP server forwards the request to the embedded HTTP server within
the application server. The embedded server forwards the request into the web container.

Correct Answer: A
When IBM HTTP Server receives a request for a JSP file, it passes the request to WebSphere Application Server -
Express\\'s servlet engine, which calls the JSP processor. The JSP processor is an internal servlet which converts a

JSP file into Java source code and compiles it. The servlet that implements the JSP processor is
org.apache.jasper.runtime.JspServlet.

QUESTION 10

Which tool can be used to analyze and tune performance for memory leak detection?
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A. Thread monitor

B. Configuration validation

C. Performance and Diagnostic Advisor
D. IBM Tivoli Performance Viewer advisor
Correct Answer: D

Reference: https://www.ibm.com/developerworks/websphere/techjournal/1208_hare/1208_hare.html

QUESTION 11

What is the maximum number of heap dumps that can exist at once in the IBM WebSphere Application Server home
directory?

A. 10

B. 20

C. No limit

D. As many as allowed by disk space

Correct Answer: C

QUESTION 12

What does the "Update all" selection install by default if no further action is taken?
A. All updates are installed for all installed package groups.

B. All updates for only the selected package group are installed.

C. Only recommended updates for all installed package groups are installed.

D. Only recommended updates for the selected package groups are installed.

Correct Answer: A

QUESTION 13

To ensure that all web traffic is secure from the client to the application server, which two layers have to be configured
for SSL? (Choose two.)

A. Client to Web server
B. Web server to node agent

C. Web server to application server

C9510-418 PDF Dumps | C9510-418 VCE Dumps | C9510-418 Practice Test 6/7


https://www.certbus.com/c9510-418.html
https://www.certbus.com/c9510-418.html
https://www.certbus.com/c9510-418.html

www.CertBus.com https://www.certbus.com/c9510-418.html|
CE RT 2024 Latest certbus C9510-418 PDF and VCE dumps Download

D. Application server to node agent
E. Node agent to deployment manager
Correct Answer: AC

Reference: https://www-01.ibm.com/support/docview.wss?uid=swg27036662andaid=1

QUESTION 14

An administrator installs IBM WebSphere Application Server and an HTTP server, but when configuring the
environment, the administrator finds that the WebSphere Plug-in is missing.

Which tool can be used to fix this issue?

A. Customization Tool Box

B. IBM Installation Manager

C. Profile Management Tool

D. Integrated Solutions Console

Correct Answer: D

In the WebSphere Integrated Solutions Console, the web server is represented as a specific server type, and you can
view or modify all of the configuration properties used in the plugin-cfg.xml file for the web server plug-in from the

WebSphere Integrated Solutions Console.

Reference: https://www.ibm.com/support/knowledgecenter/en/SSHRKX_8.0.0/plan/plan_ihs.html

QUESTION 15

Heapdumps, javacores, and system cores are recommended to be generated for which kind of IBM WebSphere
Application Server problems?

A. Slow page rendering

B. High CPU and disk /O

C. Slow File uploads and downloads
D. System hangs and out of memory
Correct Answer: B

Reference: https://www-01.ibm.com/support/docview.wss?uid=swg21138203
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